(BHTEE £3 768 SRIXFEORESRVEFIKAR #HEE]

<EFEE>

205 6L T DEP
BT - L) B FEERES AR
ETRAVNITEES | RAE R EF
7/7(8)AM
EN
Emal
7/6(1)AM 7/6(1)AM
LN N
ERRNE E- el
51760 BBTEER BRCCER
6 | 2 2x | 1 13 | 14x
6/16(H) 6/23(H) 6/30(H) 6/23(H)
E—E ERNE ERNE F—E
F-ies F-ia $iag E-nas
wtoaFess | | mATEER || BEALATes | | EtReowTess || puFess || BNaFees || ARcs:
1| 11x 1 | 6x 17 | 2 11x | 1 11x | 3 12x | 4 4 | 12
6/9(8H) 6/9(8H) 6/9(8H) 6/9(8H) 6/9(8H) 6/9(8) 6/9(8H)
F—\E EUN BN =Y S F— F—\H
ERRNE EREPNE EN £ man B HAE E el F=ias
13130514 B 10:3054 2RI
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
2 & 1t % B |l B || & = || @ z || = ' || Y 5
1] B D 18 a8 || 5 IR T || W gl i 5
ks o a8 7 7|5 ) F || F alle a || % =
& ¥ F & R | | & 2 e T 77 Z
5 & & 5 s ||z 7|9 5 || 5 | e 2|5 5
& 5 5 2 2 ||z s 2 || 2 z || s 5 || < 2
P S Z 5| |2 IR 2 ||z
z 2| |3 z £
5 2 5 2
S 5 = 5,
2 2




(BHTEE £3 768 SRIXFEORESRVEFIKAR #HEE]

=05 SELEUT OB
[%5] 6/30(H) :%H—1E A58
[%6] 6/30(H) %H—1E H=H&58 7/7(H)
$—AH
EaEiray=|
7/6(-£)AM 7/6(-£)AM
EUNES| U NG|
E—iEaE St vy =|
| EEFEES | | mtmavoFess | | | |
12x 1 5 10
6/23(A) 6/23(0) 6/30(8) 6/30(8)
%4 SEPINE X5 %6
[ mrRyees | Bmas [ mezees || mmoes |
18 5 17 7 9 12
6/16(H) 6/16(8) 6/16(E))
1 2 x1 3 4 5 6 7 *2 8 9 X3 10 11
= E el 1t = 14 =3 g5 = 5 e
iz R 1] D + N 8 I A 5 T
7|7 7 ||& ) x| |3 ||z cl|la
sl e el F 5 R el e || F
£ 5 3] E ) I 5 B B B E
= = = 3} L & = = = = 5
= 7 5 =
7 =
z
<3




[FFRATHHER]

Yy  #K KR 74032 WX I 907 MY A KR ®BEE N-X T #$9-2 UMY

6/8(L) H&FEF 418

6/9(H) |Ftb= #1H

6/15(%) [{&FF —HE X X X X X X X X
6/16(H) |76 —HE X X X X X
6/22(1) | F¢&6% =HE X X X X X X X X X X X
6/23(H) |FEta =&H X X X X

6/29(%) |FEE= FiRA X X

6/30(R) [{&%F =HE

7/6(%)

7/7(8) |EFE FRE

7/13(L) [B¥E &&8




